Kimmel, Weygandt, Kieso, Trenholm 

Financial Accounting, Fourth Canadian Edition


CHAPTER 1

The Purpose and Use of Financial Statements

ASSIGNMENT CLASSIFICATION TABLE

	Study Objectives
	
	Questions
	
	Brief
Exercises
	
	Exercises
	
	A
Problems
	
	B
Problems

	
	
	
	
	
	
	
	
	
	
	

	1.
Identify the users and uses of accounting.
	
	1, 2, 3, 4, 5, 6, 7, 8
	
	1, 2
	
	1, 4
	
	1A, 2A
	
	1B, 2B

	
	
	
	
	
	
	
	
	
	
	

	2.
Explain the three main types of business activity.
	
	9, 10, 11, 12, 13, 14, 15
	
	3, 4
	
	2, 3, 4
	
	3A, 4A, 5A
	
	3B, 4B, 5B

	
	
	
	
	
	
	
	
	
	
	

	3.
Describe the content and purpose of each of the financial statements.
	
	16, 17, 18, 19, 20, 21, 22
	
	5, 6, 7, 8, 9, 10, 11
	
	4, 5, 6, 7, 8, 9, 10, 11, 12, 13
	
	5A, 6A, 7A, 8A, 9A, 10A
	
	5B, 6B, 7B, 8B, 9B, 10B


ASSIGNMENT CHARACTERISTICS TABLE

	Problem
Number
	
	Description
	
	Difficulty
Level
	
	Time
Allotted (min.)

	1A
	
	Identify users and uses of financial statements.
	
	Moderate
	
	30-40

	
	
	
	
	
	
	

	2A
	
	Determine forms of business organization.
	
	Moderate
	
	20-30

	
	
	
	
	
	
	

	3A
	
	Identify business activities.
	
	Simple
	
	25-30

	
	
	
	
	
	
	

	4A
	
	Identify business activities.
	
	Simple
	
	20-30

	
	
	
	
	
	
	

	5A
	
	Classify accounts.
	
	Simple
	
	20-30

	
	
	
	
	
	
	

	6A
	
	Classify accounts.
	
	Simple
	
	20-30

	
	
	
	
	
	
	

	7A
	
	Use accounting equation.
	
	Complex
	
	30-40

	
	
	
	
	
	
	

	8A
	
	Prepare financial statements.
	
	Moderate
	
	35-45

	
	
	
	
	
	
	

	9A
	
	Prepare cash flow statement.
	
	Moderate
	
	25-35

	
	
	
	
	
	
	

	10A
	
	Use financial statement relationships to calculate missing amounts; write memo.
	
	Moderate
	
	40-50

	
	
	
	
	
	
	

	1B
	
	Identify users and uses of financial statements.
	
	Moderate
	
	30-40

	
	
	
	
	
	
	

	2B
	
	Determine forms of business organization.
	
	Moderate
	
	20-30

	
	
	
	
	
	
	

	3B
	
	Identify business activities.
	
	Simple
	
	25-30

	
	
	
	
	
	
	

	4B
	
	Identify business activities
	
	Simple
	
	20-30

	
	
	
	
	
	
	

	5B
	
	Classify accounts.
	
	Simple
	
	20-30

	
	
	
	
	
	
	

	6B
	
	Classify accounts
	
	Simple
	
	20-30

	
	
	
	
	
	
	

	7B
	
	Use accounting equation.
	
	Complex
	
	30-40

	
	
	
	
	
	
	

	8B
	
	Prepare financial statements.
	
	Moderate
	
	35-45

	
	
	
	
	
	
	

	9B
	
	Prepare cash flow statement.
	
	Moderate
	
	25-35

	
	
	
	
	
	
	

	10B
	
	Use financial statement relationships to calculate missing amounts; write memo.
	
	Moderate
	
	40-50


 
ANSWERS TO QUESTIONS

1.
Accounting is the information system that identifies and records the economic events of an organization, and then communicates them to a wide variety of interested users.

2.
I agree a person cannot earn a living, spend money, buy on credit, make an investment, or pay taxes without receiving, using, or dispensing financial information. Accounting provides financial information to interested users through the preparation and distribution of financial statements and is therefore vital to our society and economic system.

3.
Everyone should study accounting since a working knowledge will be relevant and useful to a user of accounting information.

4.
Internal users of accounting information work for the company and include finance directors, marketing managers, human resource personnel, production supervisors, and company officers.


External users of accounting information do not work for the company. The main external users are investors and creditors. Other external users include labour unions, customers, the Canada Revenue Agency (CRA), and securities commissions.

5.
Internal users may want the following questions answered:

· Is there enough cash to purchase a new piece of equipment?

· What price should we sell our product for to cover costs and to maximize profits?

· How many employees can we afford to hire this year?

· Which product line is the most profitable?

· How much of a pay raise can the company afford to give me?

External users may want the following questions answered:

· Is the company earning enough to give me my required return on investment?

· Will the company be able to repay its debts as the debts come due?

· Will the company stay in business long enough to service the products I buy from it?

  6.
Investors use financial information to make decisions to buy, hold or sell shares of the company. For example, investors rely on accurate and timely financial reporting to evaluate the company's earnings and profitability in relation to its competitors. Creditors lend money to the company, and are not owners. They use financial re-porting to evaluate the risks of granting credit or lending money and are concerned about the ability of the company to pay off its debts as they become due.

Questions (Continued)

7.
Ethics are important because without the expectation of ethical behaviour, the information presented in the financial statements would have no credibility for the accounting profession. Without credibility, financial statement information would be useless to financial statement users.

8.
(a)
The three basic forms of business organization are (1) proprietorship, (2) partnership, and (3) corporation.


(b)
Advantages of a corporation are limited liability (shareholders not being personally liable for corporate debts) and transferability of ownership. Disadvantages of a corporation are increased government regulations and the fact that corporations are taxed as a separate legal entity. Corporations may receive more favourable tax treatment than other forms of business organizations. Partnerships and proprietorships are easier to form (and dissolve) than corporations. Proprietorships and partnerships are not taxed as separate entities. The partners and proprietors pay personal income tax on their share of profits. Depending on the circumstances this may be an advantage or disadvantage. Disadvantages of proprietorships and partnerships are unlimited liability (proprietors/partners are personally liable for all debts of the business) and difficulty in obtaining financing compared to corporations.

 9.
Operating activities are the activities that the organization undertakes to earn a profit. It includes the day-to-day activities which generate revenues and cause expenses to be incurred. In order to earn profits, a company must first purchase resources they need to operate. The purchase of these resources (assets) are considered to be investing activities. Finally, the company must have sufficient funds to purchase assets and to operate. While some of the necessary cash will be generated from operations, often the company has to raise external funds by either issuing shares or borrowing money. Financing activities involve the activities undertaken by the company to raise cash externally.

10.
(a)
Two primary operating activities incurred are the sales revenue generated from selling inventory and the expenses related to the cost of sales.


(b)
Two primary investing activities are the purchase of property, plant, and equipment, such as a building, and the purchase of a long-term investment.


(c)
Two primary financing activities for a corporation are borrowing money (debt) and selling shares (equity).

Questions (Continued)

11.
Accounts receivable is classified as an operating activity because receivables are created in conjunction with the generation of revenue which is a day-to-day activity. An account receivable is created when a company earns revenue but does not collect the cash immediately. The generation of revenue is an operating activity and therefore, the accounts receivable is classified in the same manner. Property, plant and equipment is purchased so that the company can commence/continue its operations. Thus, its acquisition is classified as an investing activity.

12.
Accounts receivable are short-term in nature and result from generating revenue, an operating activity. Investing activities involve the purchase and sale of long-lived resources. 

13.
Accounts payable result from the purchase of inventory, which is an operating activity. Financing activities include the issue or repayment of debt and the issue of shares or the payment of dividends.

14.
A bank would want to ensure that the company has sufficient cash available to repay any loans owed to the bank. If the company paid out all its cash in the form of dividends there would be no funds available to repay this debt.

15.
(a)
Assets are what the company owns such as cash and equipment.


(b)
A liability is an amount the company owes such as accounts payable and unearned revenue.


(c)
Shareholders’ equity represents the net worth of a company at a point in time and includes share capital and retained earnings. It is equal to the company’s assets less its liabilities.


(d)
Revenues are an increase in a company’s economic resources from operating activities such as the sale of a product.


(e)
Expenses are the cost of assets that are consumed or services that are used in the process of generating revenues. Examples include cost of good sold, rent expense and salaries expense.

16.
The balance sheet is prepared as at a specific point in time because it shows what the business owns (its assets) and what it owes (its liabilities). These items are constantly changing. It is necessary to select one point in time at which to present them. The other statements (earnings, retained earnings and cash flow) cover a period of time as they report activities and measure performance that takes place over time.

17.
Retained earnings are the cumulative earnings retained in a corporation. Retained earnings are increased by net earnings and are decreased by dividends and net losses.

Questions (Continued)

18.
(a)
The primary purpose of the cash flow statement is to provide financial information about the cash receipts and cash payments of a company for a specific period of time.


(b)
The three categories of the cash flow statement are operating activities, investing activities, and financing activities. These categories represent the three principal types of business activities.

19.
(a)
The statement of earnings reports net earnings for the period. The net earnings figure from the statement of earnings is shown on the statement of retained earnings as an addition to beginning retained earnings. If there is a net loss it is deducted from the opening balance of retained earnings.


(b)
The statement of retained earnings explains the change in the retained earnings balance from one period to the next. The ending balance of retained earnings is reported on the balance sheet.


(c)
The cash flow statement explains the change in the cash balance from one period to the next. The ending balance of cash is reported on the balance sheet.

20.
(a)
The basic accounting equation is Assets = Liabilities + Shareholders’ Equity.


(b)
The basic accounting equation represents the relationships between assets, liabilities, and shareholders' equity presented in the balance sheet. Assets must be in balance with the claims on the assets (liabilities + shareholders' equity).

21.
It is likely that the use of rounded figures would not change the decisions made by the users of the financial statements. As well, presenting the information in this manner makes the statements easier to read and analyze thereby increasing their utility to the users. Rounding the numbers to the nearest thousand does not have a material impact on the financial statements.

22.
One possible complication is that the number of days included in each fiscal year will vary, thus causing reported sales to vary from year to year. However, the difference is often only a few days and in most cases does not have a material impact on the financial statements.

SOLUTIONS TO BRIEF EXERCISES

BRIEF EXERCISE 1-1

	
	(a) Type of Evaluation
	(b) Type of User



	Investor
	5
	External

	Marketing manager
	4
	Internal

	Creditor
	3
	External

	Chief financial officer
	6
	Internal

	Canada Revenue Agency
	1
	External

	Labour union
	2
	External


BRIEF EXERCISE 1-2

(a)
Prop.

(b)
Part.

(c)
Corp.

BRIEF EXERCISE 1-3

(a)
O


(b)
F


(c)
F


(d)
F


(e)
I


(f)
O


BRIEF EXERCISE 1-4

	
	(a)
	(b)



	1.
	O
	+

	2.
	F
	+

	3.
	O
	NE

	4.
	O
	NE

	5.
	O
	-

	6.
	O
	-

	7.
	I
	-


BRIEF EXERCISE 1-5

(a)
BS

(b)
BS

(c)
SE

(d)
BS

(e)
BS

(f)
SE

(g)
SE

(h)
BS

(i)
BS

(j)
SE

(k)
SE

(l)
BS

BRIEF EXERCISE 1-6

(a)
SE



(b)
BS


(c)
CF


(d)
BS


(e)
RE


(f)
SE

BRIEF EXERCISE 1-7

(a)
$75,000 – $45,000 = $30,000 (Shareholders’ equity)

(b)
$45,000 + $45,000 = $90,000 (Assets)

(c)
$90,000 – $50,000 = $40,000 (Liabilities)

BRIEF EXERCISE 1-8

(a)
Total assets
=
Total liabilities + Shareholders’ equity



=
$45,000 + $110,000



=
$155,000

(b)
Total assets
=
Total liabilities + Shareholders’ equity (share capital + retained earnings)



=
$190,000 + ($100,000 + $100,000)



=
$390,000

(c)
Total liabilities
=
Total assets – Shareholders’ equity (share capital + retained earnings)



=
$170,000 – ($55,000 + $25,000)



=
$90,000

(d)
Shareholders’ equity
=
Total assets – Total liabilities



=
$450,000 – ($450,000 ÷ 2)



=
$225,000

BRIEF EXERCISE 1-9

(a)
($500,000 + $100,000) – ($300,000 – $50,000) = $350,000


(Shareholders’ equity)

(b)
($300,000 + $50,000) + ($500,000 - $300,000+ $50,000 + $50,000) = $650,000


(Total assets)

(c)
($500,000 – $80,000) – ($500,000 – $300,000 + $80,000) = $140,000


(Total liabilities)

BRIEF EXERCISE 1-10

(a)
A

(b)
L

(c)
A

(d)
A

(e)
SE

(f)
L

(g)
SE

(h)
A

BRIEF EXERCISE 1-11

(a)
NE

(b)
C

(c)
R

(d)
R

(e)
E

(f)
E

(g)
D

(h)
E

SOLUTIONS TO EXERCISES

EXERCISE 1-1

(a) Chief Financial Officer – Does Roots generate enough cash to expand its product line?


Human Resource Manager – What is Roots’ annual salary expense?

(b)
Creditor – Does Roots have enough cash available to make its monthly debt payments?


Investor – How much did Roots pay in dividends last year?

EXERCISE 1-2

	
	(a)
	(b)



	1.
	I
	-

	2.
	O
	NE

	3.
	F
	+

	4.
	I
	+

	5.
	O
	+

	6.
	F
	+

	7.
	I
	+

	8.
	F
	-

	9.
	F
	-

	10.
	O
	+


EXERCISE 1-3

	1.
	
	Operating

	2.
	
	Investing

	3.
	
	Operating

	4.
	
	Financing

	5.
	
	Financing

	6.
	
	Financing

	7.
	
	Operating

	8.
	
	Operating

	9.
	
	Operating


EXERCISE 1-4

(a)
6
Corporation

(b)
1
Accounts payable

(c)
10
Assets


(d)
2
Creditor


(e)
3
Financing activities

(f)
9
Fiscal year

(g)
4
Retained earnings

(h)
7
Common shares

(i)
8
Accounts receivable

(j)
5
Dividends


EXERCISE 1-5

(a)
BS
(i)
SE

(b)
SE
(j)
BS

(c)
SE
(k)
SE

(d)
BS
(l)
CF

(e)
SE
(m)
CF

(f)
RE
(n)
BS

(g)
BS
(o)
BS

(h)
CF
(p)
CF

EXERCISE 1-6

(a) 
Assets - Liabilities = Shareholders’ equity


$95,000 - $80,000 = $15,000

(b)
Total revenues - Total expenses = Net earnings


$215,000 - $175,000 = $40,000


Beginning balance in shareholders' equity + Issue of shares + Net earnings – Dividends = Ending balance in shareholders’ equity


$15,000 (from (a)) + Issue of shares + $40,000 - $24,000 = $40,000


Issue of shares = $9,000

(c)
Total Assets - Shareholders’ equity = Total liabilities


$125,000 - $95,000 = $30,000

(d)
Total revenues – Total expenses = Net earnings


$100,000 - $85,000 = $15,000


Beginning balance in shareholders’ equity + Issue of shares + Net earnings – Dividends = Ending balance in shareholders’ equity


$95,000 + $25,000 + $15,000 - Dividends = $130,000


Dividends = $5,000

(e)
Liabilities + Shareholders’ equity = Total assets


$65,000 + $23,000 (from (f)) = $88,000

(f)
Total revenues - Total expenses = Net earnings


$54,000 - $40,000 = $14,000


Beginning balance in shareholders' equity + Issue of shares + Net earnings - Dividends = Ending balance in shareholders' equity


$35,000 + $4,000 + $14,000 - $30,000 = $23,000

EXERCISE 1-7

(a)
L
Accounts payable and accrued liabilities


   
A   
Accounts receivable




  
A   
Capital assets




   
A   
Cash 





   
A   
Goodwill and other intangibles



   
A   
Inventory





   
L   
Long-term debt




   
A   
Other assets




   
L   
Other liabilities


SE
Other shareholders’ equity items




   
A   
Prepaid expenses



  
SE  
Retained earnings 




  
SE  
Share capital




(b)
($ in thousands)


Assets







Cash
$  47,484 



Accounts receivable
75,506

    

Inventory
319,445



Prepaid expenses
14,501



Capital assets
188,621



Goodwill and other intangibles
89,335



Other assets
    20,072

  


Total assets
$754,964 


Liabilities







Accounts payable and accrued liabilities
$279,910 



Other liabilities
61,122



Long-term debt
    58,449




Total liabilities
$399,481 


Shareholders’ equity







Share capital
$164,315 



Retained earnings
191,176



Other shareholders’ equity items
            (8)




Total shareholders’ equity
$355,483 


Total assets 
=  
Total liabilities 
+ 
Shareholders’ equity


$754,964 
=
$399,481 
+
$355,483 


EXERCISE 1-8
ADVENTURA INC.

Balance Sheet

November 30, 2009

Assets

Cash

$  10,000 

Accounts receivable
9,500

Inventory
18,000

Prepaid insurance
500

Land

50,000

Building
  100,000

Total assets
$188,000 

Liabilities and Shareholders’ Equity

Liabilities





Bank loan payable
$  20,000



Accounts payable
16,200


Income tax payable
2,000


Other payables
7,800


Unearned revenue
6,000


Mortgage payable
    97,500 



Total liabilities
  149,500

Shareholders’ equity





Common shares
20,000


Retained earnings
    18,500


Total shareholders’ equity
    38,500

Total liabilities and shareholders’ equity
$188,000 

EXERCISE 1-9

(a)



	L
	Accounts payable
	
	E
	Operating expenses

	A
	Accounts receivable
	
	E
	Other expenses

	E
	Amortization expense
	
	R
	Other revenues

	A
	Cash
	
	A
	Prepaid expenses

	E
	Income tax expense
	
	SE
	Retained earnings

	E
	Interest expense
	
	R
	Revenues

	R
	Interest income
	
	SE
	Share capital

	A
	Inventories
	
	
	


(b)
TRANSAT A.T. (AIR TRANSAT) INC.




Statement of Earnings




Year Ended October 31, 2007

(in thousands)


Revenues



Revenues
$3,045,917




Interest income
19,745



Other revenues
       30,251




Total revenues
  3,095,913

Expenses



Operating expenses
2,912,847


Amortization expense
42,973


Other expenses
15,837


Interest expense
         8,158



Total expenses
  2,979,815

Earnings before income tax
116,098

Income tax expense
       35,618

Net earnings
$     80,480 


EXERCISE 1-10

KON INC.

Statement of Earnings

Year Ended December 31, 2009

Revenues


Service revenue

$58,000 

Expenses


Salaries expense
$28,000 



Rent expense
10,400



Utilities expense
2,400



Advertising expense
    1,800




Total expenses

 42,600
Earnings before income tax

15,400

Income tax expense

   6,000

Net earnings

$ 9,400 

KON INC.

Statement of Retained Earnings

Year Ended December 31, 2009

Retained earnings, January 1
$57,000 

Add:
Net earnings
    9,400



66,400

Less:
Dividends
    7,000

Retained earnings, December 31
$59,400 

EXERCISE 1-11
(a) 
Camping fee revenue
$137,000 


General store revenue
    35,000

Total revenue
172,000


Expenses ($128,000 + $7,000)
  135,000

Net earnings
$  37,000 

(b)
SEA SURF CAMPGROUND, INC.


Statement of Retained Earnings


Year Ended December 31, 2009


Retained earnings, January 1
$18,000 


Add:
Net earnings
  37,000



55,000


Less:
Dividends
  14,000


Retained earnings, December 31
$41,000 

SEA SURF CAMPGROUND, INC.

Balance Sheet

December 31, 2009

Assets


Cash

$    7,500 


Supplies
2,500


Equipment
  119,000


Total assets
$129,000 

Liabilities and Shareholders’ Equity


Liabilities



Accounts payable
$    8,000 



Notes payable
    50,000




Total liabilities
    58,000

Shareholders’ equity




Common shares
30,000



Retained earnings
    41,000




Total shareholders’ equity
    71,000

Total liabilities and shareholders’ equity
$129,000 

EXERCISE 1-12
VAN TRAN CORPORATION

Cash Flow Statement

Year Ended December 31, 2009

Operating activities





Cash received from customers
$70,000 



Cash paid for expenses
 (30,000)




Cash provided by operating activities

$40,000 

Investing activities





Cash paid for new equipment
$(55,000)




Cash used by investing activities

   (55,000)

Financing activities





Cash received from lenders
$25,000 



Cash dividends paid
  (5,000)




Cash provided by financing activities

  20,000 

Net increase in cash

5,000 

Cash, January 1, 2009

  12,000 

Cash, December 31, 2009

$17,000 

EXERCISE 1-13
(a)
Yu Corporation is distributing nearly all of this year's net earnings as dividends. This suggests that Yu is not pursuing rapid growth. Companies that are pursuing opportunities for growth normally retain their earnings and pay low dividends.

(b)
Surya Corporation is not generating sufficient cash from operating activities to fund its investing activities. The company is borrowing to finance its investing activities. This is common for companies in their early years of existence. It could also be in an expansion stage.

(c)
Naguib is financing its assets mainly through equity. The company has $400,000 ($150,000 + $250,000) of total assets, which are funded 37.5% ($150,000 ÷ $400,000) by liabilities and 62.5% ($250,000 ÷ $400,000) by equity. Since equity does not have to be repaid and does not require interest payments, the company appears to be in a healthy financial position.

SOLUTIONS TO PROBLEMS


(a)
In making an investment in common shares the Ontario investor is becoming a partial owner of the company. In this case, the investment will be held for at least three years. The information that will be most relevant to him will be on the statement of earnings. The statement of earnings reports the past performance of the company in terms of its revenue, expenses and net earnings. This is the best indicator of the company’s future potential. 

(b)
In deciding to extend credit to a new customer, Comeau Ltée would focus its attention on the new customer's balance sheet. The terms of credit they are extending require repayment in a short period of time. Funds to repay the credit would come from current assets. The balance sheet of the new customer will show if the company has enough current assets to meet its current obligations.

(c)
In order to determine whether the company is generating enough cash to increase the amount of dividends paid to investors, the CEO of Private Label Corporation needs information on the amount of cash generated and used in various activities of her business. The cash flow statement is the most useful statement for this purpose. This statement presents the amount of cash flow at the beginning and end of the period as well as the details of the amount of cash generated by operating activities and the amount spent on expanding operations (investment activities). 

(d)
In deciding whether to extend a loan, the Laurentian Bank is interested in two things: the ability of the company to make its monthly interest payments for the next five years and the ability to repay the principal amount at the end of five years. In order to evaluate both of these factors the focus should be on the cash flow statement. This statement provides information on the cash the company generates from its operating activities on an ongoing basis. This will be the most important factor in determining if the company will survive and be able to repay the principal and interest on the loan.


PROBLEM 1-1A (Continued)



Note to instructor: Other answers may be valid provided they are properly supported.


(a)
Dawn will likely operate her vegetable stand as a proprietorship because she is planning on operating it for a short time period and a proprietorship is the simplest and least costly business organization to form and dissolve.

(b)
Joseph and Sabra should form a corporation when they combine their operations. This is the best form of business for them to choose because they plan to raise funds in the coming year. It is easier to raise funds in a corporation. A corporation may also receive more favourable income tax treatment.

(c)
The professors should incorporate their business because of their concerns about the legal liabilities. A corporation is the only form of business that provides limited liability to its owners.

(d)
Abdur would likely form a corporation because he needs to raise funds to invest in inventories and property, plant, and equipment. He has no savings or personal assets and it is normally easier to raise funds through a corporation than through a proprietorship or partnership.

(e)
A partnership would be the most likely form of business for Mary, Richard and Jigme to choose. It is simpler to form than a corporation and less costly.


(a)

	 
	Operating
	Investing
	Financing

	Abitibi Consolidated Inc.
	Sale of newsprint
	Purchase of equipment
	Issue of shares

	Ryerson Student Union
	Payment of wages and benefits
	Purchase of office equipment
	Borrowing  money from a bank

	Biovail Corporation
	Payment of research expenses
	Purchase of other companies
	Issue of bonds

	Maple Leaf Sports & Entertainment Ltd.
	Payment for court rentals
	Purchase of basketball equipment
	Payment of dividends to shareholders

	Grant Thornton LLP
	Billing of clients for professional services
	Purchase of computers
	Distribution of earnings to partners

	WestJet Airlines Ltd.
	Payment for jet fuel
	Purchase of airplanes
	Issue of shares


(b)
Financing

Issuing shares is common to all corporations. Borrowing from a bank is common to all businesses. Payment of dividends is common to all corporations. Issuing bonds is common to large corporations. Distributing earnings to partners is common to all partnerships.


Investing






Purchasing and selling property, plant, and equipment would be common to all businesses—the types of assets would vary according to the type of business and some types of businesses require a larger investment in long-lived assets. A new business or expanding business would be more likely to acquire assets.


Operating







The general activities identified above (sales and expenditures) would be common to most businesses, although the service or product might change.


(a)

	1.
	Financing

	2.
	Investing

	3.
	Investing

	4.
	Investing

	5.
	Operating


(b)

	Financing
	Receipt of a student loan

	Investing
	Sale of used text books

	Operating
	Payment of rent



	
	(a)
	(b)

	Initiation fees
	R
	O*

	Capital assets
	A
	I

	Income – food and beverage operations
	R
	O

	Income – golf course operations
	R
	O

	Inventory
	A
	O

	Office and general expenses
	E
	O

	Payables and accruals
	L
	O

	Receivables
	A
	O

	Long-term debt
	L
	F

	Wages and benefits expense
	E
	O


* Initiation fees may be considered to be operating. However, operating costs are covered through annual fees. Initiation fees are also financing in nature as they finance other costs of the golf club. Unlike financing activities though, initiation fees are not repaid.


	
	(a)
	(b)
	
	(a)
	(b)



	Accounts payable
	L
	BS
	Land
	A
	BS

	Accounts receivable
	A
	BS
	Mortgage payable
	L
	BS

	Building
	A
	BS
	Notes payable
	L
	BS

	Cash
	A
	BS
	Operating expenses
	E
	SE

	Common shares
	SE
	BS
	Other payables
	L
	BS

	Cost of goods sold
	E
	SE
	Other revenue
	R
	SE

	Dividends paid
	SE
	RE
	Preferred shares
	SE
	BS

	Equipment
	A
	BS
	Prepaid insurance
	A
	BS

	Income tax expense
	E
	SE
	Retained earnings
	SE
	BS, RE

	Income tax payable
	L
	BS
	Salaries payable
	L
	BS

	Interest expense
	E
	SE
	Sales revenue
	R
	SE

	Inventory
	A
	BS
	Unearned revenue
	L
	BS



(a)
(Note: amounts are in millions of dollars)


(1)
Total liabilities = Total assets  – Total shareholders’ equity





Total liabilities = $1,745 – $1,018





Total liabilities = $727




(2)
Total shareholders' equity = Total assets – Total liabilities





Total shareholders' equity = $1,797 – $795





Total shareholders' equity = $1,002



(3)
Ending balance – Beginning balance = Change in shareholders’ equity



$1,002 – $1,018 = $(16)




Dividends = (Issue of shares + Net earnings) – Change in shareholders' equity – Other decreases in shareholders’ equity




Dividends = ($13 + $270*) – $(16) - $246






Dividends = $53






*Net earnings = Total revenues – Total expenses




Net earnings = $1,896 – $1,626 






Net earnings = $270




(4)
Total assets  = Total liabilities + Total shareholders’ equity





Total assets  = $4,429 + $2,229





Total assets = $6,658




(5)
Total assets = Total liabilities + Total shareholders’ equity





Total assets = $3,060 + $2,268 (from (f))




Total assets = $5,328



PROBLEM 1-7A (Continued)


(a) (Continued)


(6)
End of year, total shareholders' equity = Beginning of year, total shareholders' equity + Issue of shares during year + Net earnings – Dividends – Other decreases in shareholders’ equity



End of year, total shareholder's equity 




= $2,229 - $18 + $673* – $0 - $616



End of year, total shareholder's equity = $2,268


*Net earnings = Total revenues – Total expenses



Net earnings = $9,522 – $8,849





Net earnings = $673


(b)
Financial results in different currencies are more difficult to compare. However, comparisons can be made through the use of ratios.

(c)
The balance sheet provides a snapshot of the company "at" a point in time. Therefore, the differing year end date may affect the comparability of the assets, liabilities and shareholders' equity. For example, inventories may be lower after Christmas possibly making Tim Horton’s total assets lower in December than they would be if the company had its year end in September. The statement of earnings reports the results of operations over a period of time. Assuming the length of the reporting periods are the same, the effects of different year-end dates should be minimal on any assessment of performance for the two companies.


AERO FLYING SCHOOL LTD.

Statement of Earnings

Month Ended May 31, 2009

Revenues





Service revenue

$9,600 

Expenses



Fuel expense
$3,300


Rent expense
1,200


Advertising expense
900


Repair expense
700


Insurance expense
400


Interest expense
    100
  6,600
Earnings before income tax

3,000

Income tax expense

     600
Net earnings

$2,400 

AERO FLYING SCHOOL LTD.

Statement of Retained Earnings

Month Ended May 31, 2009

Retained earnings, May 1

$        0 

Add:
 Net earnings

  2,400





2,400

Less: Dividends

     800
Retained earnings, May 31

$1,600 

PROBLEM 1-8A (Continued)



AERO FLYING SCHOOL LTD.

Balance Sheet

May 31, 2009

Assets

Cash


$  4,300

Accounts receivable

11,200

Equipment

  60,300

Total assets

$75,800
Liabilities and Shareholders’ Equity

Liabilities





Accounts payable

$  2,400


Notes payable

   25,000


Total liabilities

  27,400

Shareholders’ equity



Common shares

46,800


Retained earnings

    1,600


Total shareholders’ equity

  48,400
Total liabilities and shareholders’ equity

$75,800


Frenette Corporation should include the following items in its cash flow statement:

Cash, July 1, 2008



Cash paid to suppliers



Cash paid for income tax



Cash dividends paid



Cash paid to buy equipment


Cash received from customers


FRENETTE CORPORATION

Cash Flow Statement

Year Ended June 30, 2009

Operating activities




Cash received from customers
$158,000 


Cash paid to suppliers
     (89,000)


Cash paid for income tax
      (20,000)



Cash provided by operating activities

$49,000

Investing activities




Cash paid to purchase equipment
$(26,000)



Cash used by investing activities

(26,000)

Financing activities



Cash dividends paid
$(13,000)



Cash used by financing activities

      (13,000)
Increase in cash

10,000

Cash, July 1, 2008

  30,000 

Cash, June 30, 2009

$40,000


(a)


(1)
Cash = Total assets – (Accounts receivable + Land + Building and equipment)




Cash = $85,000 – ($20,000 + $15,000 + $45,000)




Cash = $5,000



(2)
Total assets = Total liabilities and shareholders’ equity




Total assets = $85,000



(3)
Common shares = Total liabilities and shareholders’ equity – (Liabilities + Retained earnings)




Common shares = $85,000 – ($19,000 + $31,000)




Common shares = $35,000





(4)
Retained earnings = $31,000 (as per statement of retained earnings)


(5)
Operating expenses = Service revenue – Earnings before income tax




Operating expenses = $75,000 – $35,000




Operating expenses = $40,000




(6)
Net earnings = Earnings before income tax – Income tax expense




Net earnings = $35,000 – $9,000






Net earnings = $26,000





(7)
Net earnings = $26,000 (same as (6))




(8)
Dividends = Beginning retained earnings + Net earnings – Ending retained earnings




Dividends = $10,000 + $26,000 – $31,000




Dividends = $5,000

PROBLEM 1-10A (Continued)




(b) 
(1) 
In preparing the financial statements, the first statement to be prepared is the statement of earnings, followed by the statement of retained earnings and then the balance sheet. While the statements must be prepared in this sequence, these statements can be presented in a variety of orders. Often the balance sheet is presented first, as the most “permanent” statement.


(2) 
The reason the statements must be prepared in a certain order as indicated above, is that each statement depends on information in the previously prepared statement. For example, the net earnings figure is used in the statement of retained earnings to calculate the ending balance of retained earnings. The shareholders’ equity section of the balance sheet is then completed using the ending balance of retained earnings as calculated in the statement of retained earnings.


(a)
In deciding to extend credit to a new customer, The North Face Inc. would focus its attention on the balance sheet of the new customer. The terms of credit they are extending require repayment in a short period of time. Funds to repay the credit would come from cash on hand and other current assets. The balance sheet of the new customer will show if the company has enough current assets to meet its current obligations.

(b)
An investor purchasing common shares of Music Online, Inc. that (s)he intends to hold for a long period of time (at least five years), should focus on the company’s statement of earnings. The statement of earnings reports the company’s past performance in terms of revenues, expenses and net earnings. This is generally regarded as a good indicator of the company’s future performance.

(c)
In deciding whether to extend a loan the Caisse d’Économie Base Montréal is interested in two things—the ability of the company to make interest payments on a monthly basis for the next three years and the ability to repay the principal amount at the end of the three years. In order to evaluate both of these factors, the focus should be on the cash flow statement. This statement provides information on the cash the company generates from its operations on an ongoing basis. This will be the most important factor in determining if the company will survive and be able to repay both principal and interest on the loan.

(d)
The CEO should focus on the cash flow statement as this statement clearly sets out the cash generated from operating activities and the amount the company has spent in the past on purchasing equipment and paying dividends.

Note to instructor: Other answers may be valid provided they are properly supported.


(a)
The professors should incorporate their business because of their concerns about legal liabilities. A corporation is the only form of business that provides limited liability to its owners.

(b)
Joseph should run his bait shop as a proprietorship because this is the simplest and least costly form of business organization to establish and eventually dissolve. It is also the least expensive. He is the only person involved in the business and is planning to operate for a limited time.

(c)
Robert and Tom should form a corporation when they combine their operations. This is the best form of business for them to choose because they expect to raise funds in the coming year and it is easier to raise funds in a corporation. A corporation may also receive more favourable income tax treatment.

(d)
A partnership would be the most likely form of business for Darcy, Ellen and Meg to choose. It is simpler to form than a corporation and less costly.

(e)
Hervé is most likely to select to operate his business as a corporation. He wants to raise substantial funds to purchase equipment and DVDs. It is easier to raise funds through a corporation rather than a proprietorship or partnership 


(a)

	 
	Operating
	Investing
	Financing

	Indigo Books & Music
	Sale of books
	Purchase of store equipment
	Issue of shares

	High Liner Foods Incorporated
	Payment for fish
	Purchase of production equipment
	Issue of debt securities to investors

	Mountain Equipment Co-op
	Payment for inventory
	Purchase of store fixtures
	Borrowing money from a bank

	Ganong Bros. Limited
	Payment of wages and benefits
	Purchase of production equipment
	Payment of dividends to shareholders

	Royal Bank
	Payment of interest on savings accounts
	Purchase office equipment
	Issue of bonds

	The Gap, Inc.
	Payment of wages and benefits
	Purchase of store fixtures
	Issue of shares


PROBLEM 1-3B (Continued)

(b)


Financing







Issuing shares is common to all corporations. Issuing debt is common to all corporations. Borrowing from a bank is common to all businesses. Payment of dividends is common to all corporations. Issuing bonds is common to large corporations.


Investing






Purchasing and selling property, plant, and equipment is common to all businesses—the types of assets would vary according to the nature of the business. Some types of businesses require a larger investment in long-lived assets. A new business or expanding business would be more apt to be acquiring assets.


Operating







The general activities identified above would be common to most businesses with the exception of the payment of interest on savings accounts. The source of the cash receipt (e.g., sale of books) and cash payment (e.g., payment for fish) would vary by the nature of the business.


(a)

	1.
	Operating 

	2.
	Financing

	3.
	Investing

	4.
	Operating

	5.
	Investing


(b)

	Operating
	Payment of utilities

	Investing
	Purchase of common shares as an investment

	Financing
	GMAC loan on a new car





	
	(a)
	(b)



	Accounts payable and accrued charges
	L
	O

	Accounts receivable
	A
	O

	Cash
	A
	N/S*

	Common shares
	SE
	F

	Income and other taxes payable
	L
	O

	Interest expense
	E
	O

	Inventories
	A
	O

	Long-term debt
	L
	F

	Property and equipment
	A
	I

	Retained earnings
	SE
	O, I ,F**

	Sales
	R
	O


* Each of the activities – operating, financing, and investing – explains the change in cash. Cash is not classified by itself, but rather is the result of the changes in all the activities.

** Retained earnings is the accumulation of the undistributed earnings of the company and includes the operating activities (net earnings), investing activities (gain/loss on sale of property, plant and equipment), and the payment of dividends (financing).


	
	(a)
	(b)
	
	(a)
	(b)



	Accounts payable
	L
	BS
	Parts revenue
	R
	SE

	Accounts receivable
	A
	BS
	Preferred shares
	SE
	BS

	Cash
	A
	BS
	Prepaid insurance
	A
	BS

	Common shares
	SE
	BS
	Rent expense
	E
	SE

	Dividends
	SE
	RE
	Repairs and maintenance exp.
	E
	SE

	Equipment
	A
	BS
	Retained earnings
	SE
	RE,BS

	Income tax expense
	E
	SE
	Salaries payable
	L
	BS

	Income tax payable
	L
	BS
	Service revenue
	R
	SE

	Insurance expense
	E
	SE
	Travel expense
	E
	SE

	Interest expense
	E
	SE
	Truck
	A
	BS

	Notes payable
	L
	BS
	Truck loan payable
	L
	BS

	Other payables
	L
	BS
	Unearned revenue
	L
	BS



(a)
(Note: amounts are in millions of dollars)




(1)
Total assets = Total liabilities + Total shareholders’ equity




Total assets = $2,275.3 + $785.0






Total assets = $3,060.3




(2)
Total liabilities = Total assets – Total shareholders’ equity




Total liabilities = $3,003.1 – $1,093.1





Total liabilities = $1,910.0




(3)
Ending balance - Beginning balance = Change in shareholders’ equity



$1,093.1 - $785.0 = $308.1




Change in shareholders' equity during year - Issue of shares + Dividends + Other decreases in shareholders’ equity = Net earnings



Net earnings = $308.1 - $0 + $0 + $0.4 





Net earnings = $308.5





Total expenses = Total revenues – Net earnings




Total expenses = $6,326.4– $308.5 







Total expenses = $6,017.9




(4)
Total liabilities = Total assets – Total shareholders’ equity




Total liabilities = $5,804.6 – $2,785.2





Total liabilities = $3,019.40




(5)
Total assets = Total liabilities + Total shareholders’ equity




Total assets = $3,648.8 + $3,093.9(f)






Total assets = $6,742.7



PROBLEM 1-7B (Continued)


(a) (Continued)









(6)
Ending balance = Beginning balance + Issue of shares – Dividends + Net earnings – Other decreases in shareholders’ equity



Ending balance = $2,785.2 + $0.2 - $60.4 + $417.6* - $48.7 



Ending balance = $3,093.9






*Net earnings = Total revenues – Total expenses




Net earnings = $8,621.4 – $8,203.8 







Net earnings = $417.6



(b)
At the end of fiscal 2007, Sears has a higher proportion of debt financing and Canadian Tire has a higher proportion of equity financing. Sears financed 36.4% ($1,093.1 million ÷ $3,003.1 million) of its assets with equity and 63.6% of its assets with debt ($1,910.0 million ÷ $3,003.1 million). For the same period, 45.9% ($3,093.9 million ÷ $6,742.7 million) of Canadian Tire’s assets were financed by equity and 54.1% ($3,648.8 million ÷ $6,742.7 million) by debt. Sears is slightly more risky because more of its assets are financed by debt.

(c) Retailers like Sears and Canadian Tire likely have less inventory on hand at the beginning of February than at the end of December as a result of the Christmas sales. This would decrease Sears’ assets and perhaps increase the per cent of assets financed by debt. In addition, both retailers may have had large purchases on account prior to Christmas. This would increase liabilities in December compared to February. This would also imply Canadian Tire is less risky.


ONE PLANET COSMETICS CORP.

Statement of Earnings

Month Ended June 30, 2009

Revenues





Service revenue

$10,000 

Expenses





Salaries expense
$3,000


Supplies expense
1,200


Gas and oil expense
900


Advertising expense
500


Utilities expense
    300



Total expenses

  5,900
Earnings before income taxes

4,100

Income tax expense

  1,000

Net earnings

$3,100 

ONE PLANET COSMETICS CORP.

Statement of Retained Earnings

Month Ended June 30, 2009

Retained earnings, June 1

$       0
Add:
Net earnings

  3,100





3,100

Less:
Dividends

  1,000
Retained earnings, June 30

$2,100 

PROBLEM 1-8B (Continued)


ONE PLANET COSMETICS CORP.

Balance Sheet

June 30, 2009

Assets

Cash


$  5,000

Accounts receivable

4,000

Cosmetic supplies

2,400

Equipment

  32,000
Total assets

$43,400 

Liabilities and Shareholders’ Equity

Liabilities






Accounts payable

$  1,100



Notes payable

  14,000 



Total liabilities

  15,100
Shareholders’ equity





Common shares

26,200


Retained earnings
0
    2,100


Total shareholders’ equity

  28,300
Total liabilities and shareholders’ equity

$43,400 


Maison Corporation should include the following items in its cash flow statement:


Cash, January 1, 2009





Cash paid to suppliers





Cash dividends paid





Cash paid to purchase equipment





Cash received from customers




MAISON CORPORATION
Cash Flow Statement
Year Ended December 31, 2009
Operating activities



Cash received from customers
$140,000 




Cash paid to suppliers
 (100,000)



Cash provided by operating activities

$40,000 

Investing activities



Cash paid to purchase equipment
$(25,000)





Cash used by investing activities

 (25,000)

Financing activities



Cash dividends paid
$(10,000)



Cash used by financing activities

 (10,000)

Increase in cash

5,000

Cash, January 1, 2009

   20,000

Cash, December 31, 2009

$25,000 



(a)





(1) 
Land = Total assets (from (2)) - Cash - Accounts receivable – 



Building and equipment




Land = $110,000 – $5,000 – $10,000 – $75,000




Land = $20,000


(2)
Total assets = Total liabilities + Shareholders' equity




Total Assets = $110,000


(3)
Accounts payable = Total liabilities – Notes payable




Accounts payable = $74,000 – $50,000




Accounts payable = $24,000


(4)
Common shares = Total shareholders’ equity – Retained earnings




Common shares = $36,000 (from (6)) – $26,000 (from (5))




Common shares = $10,000





(5)
Retained earnings = $26,000 (from (10))


(6)
Shareholders’ equity = Total liabilities and shareholders' equity – Total liabilities




Total shareholders' equity = $110,000 – $74,000




Total shareholders' equity = $36,000




(7)
Operating expenses = Revenue – Earnings before income tax




Operating expenses = $80,000 – $30,000 




Operating expenses = $50,000




(8)
Net earnings = Earnings before income tax – Income tax expense




Net earnings = $30,000 – $6,000






Net earnings = $24,000





(9)
Net earnings (from (8)) = $24,000




PROBLEM 1-10B (Continued)


(a) (Continued)


(10)
Ending retained earnings = Beginning retained earnings + Net earnings – Dividends




Ending retained earnings = $12,000 + $24,000 (from (8)) –




 $10,000




Ending retained earnings = $26,000

(b) 
(1) 
In preparing the financial statements, the first statement to be prepared is the statement of earnings, followed by the statement of retained earnings and then the balance sheet. While the statements must be prepared in this sequence, these statements can be presented in a variety of orders. Often the balance sheet is presented first, as the most “permanent” statement.


(2) 
The reason the statements must be prepared in a certain order as indicated above, is that each statement depends on information in the previously prepared statement. For example, the net earnings figure is used in the statement of retained earnings to calculate the ending balance of retained earnings. The shareholders’ equity section of the balance sheet is then completed using the ending balance of retained earnings as calculated in the statement of retained earnings.


(a)
Shoppers’ fiscal year end is the Saturday closest to December 31. (see Notes to Financial Statements – Note 1 – Significant)

(b)
($ in thousands)
2007
2006




Total assets
$5,644,039
$4,929,014



(c)
($ in thousands)
2007
2006



Cash from operating


activities
$565,058
$569,816



The 2007 cash generated from operating activities was insufficient to cover the cash flows of $612,747 used in investing activities in 2007. The 2006 cash generated from operating activities was sufficient to cover the 2006 cash flows used in investing activities of $381,383.

(d)
($ in thousands)
2007
2006




Sales
$8,478,382
$7,786,436




From 2006 to 2007, Shoppers’ sales increased by 8.9% [($8,478,382 – $7,786,436) ÷ $7,786,436].

 (e)
($ in thousands)
2007
2006




Net earnings
$493,628
$422,491




From 2006 to 2007, Shoppers’ net earnings increased by 16.8% [($493,628 – $422,491) ÷ $422,491]. The main reason net earnings increased faster than the percentage increase in sales was because expenses increased at a slower rate than sales. For example, the increase in Shoppers’ largest expense (cost of goods sold) and other operating expenses from 2006 to 2007 was 8.0% [($7,516,291 – $6,958,361) ÷ $6,958,361].


(a)
($ in millions)





Shoppers
Jean Coutu



1.
Total assets
$5,644.0 
$1,949.3 



Total liabilities
2,433.9 
465.2 




Shareholders' equity
3,097.1 
1,484.1 



2.
Sales
8,478.4 
1,507.6 




Net earnings (loss)
493.6 
(251.4) 



3.
Increase (decrease) in cash
 (35.3)
(40.7)

(b)
Shoppers’ total assets were approximately 2.9 times greater ($5,644.0 million / $1,949.3 million) than Jean Coutu’s total assets. Shoppers’ finances more of its assets using debt (43.1%) than does Jean Coutu (23.9%) meaning that Shoppers may be slightly more risky than Jean Coutu. Shoppers’ sales are 5.6 times greater than Jean Coutu's ($8,478.4 million ÷ $1,507.6 million). Shoppers’ had net earnings for the year while Jean Coutu had a net loss. This indicates that Shoppers’ does a better job of controlling its expenses. Both companies ended up with a net decrease in cash during the year. Shoppers’ cash decline was due primarily to the investing activity of the purchase of property and equipment while Jean Coutu also used cash to finance investing activities such as the purchase of other businesses.

(c)
Shoppers year-end is the end of December while Jean Coutu’s is the end of February. The fact that the two year ends differ should not have a significant impact on the comparison, unless there were significant economic events that affected the financial results in the non-overlapping two month period. What may be more significant is that Jean Coutu’s fiscal year only covered a nine-month period because of its change in year-end whereas Shoppers fiscal year was a normal twelve-months in length.


(a)
Gildan Activewear may report its financial results in U.S. dollars because it raises capital in U.S. markets or many of its transactions may occur in U.S. dollars. In either situation, the financial statements may be more appropriate for the users' needs if they are prepared using U.S. dollars. 

(b)
(in USD thousands)





Percentage increase in sales = 

[image: image1.wmf]$964,429 - $773,190

24.7%

$773,190

=



Percentage increase in net earnings =

[image: image2.wmf]$130,020 - $106,829

21.7%

$106,829

=


Sales improved faster than net earnings meaning the company's expenses were growing at a faster rate than its sales. For example, the cost of goods sold increased by 25.8% [($655,280 - $521,095) ÷ $521,095] during the year indicating that the cost of sales was increasing more rapidly than sales. Increases in the expenses will cause net earnings to grow at a slower rate than sales.

(c)
Gildan appears to be growing as indicated by the increase in sales and net earnings and the large amounts of cash being used in investing activities. Companies with good growth opportunities often choose to retain their earnings in the business to help finance future growth rather than pay out dividends.

(d) 
(in USD thousands)





Percentage increase in assets = 

[image: image3.wmf]=

$874,486 - $723,276

20.9%

$723,276



Percentage increase in liabilities =

[image: image4.wmf]$210,836 - $192,711

9.4%

$192,711

=


BYP 1-3 (Continued)

(e)
The company's cash declined because cash was used to purchases assets (cash used for investing activities - $134,689) in excess of receipts from financing activities (cash from for financing activities - $23,550).

(f)
The overall decrease in cash occurred because the company used the cash from operations to buy assets (investing activities) in excess of funds raised through financing (financing activities). When looking at the relationship between cash and net earnings it is better to compare net earnings to cash from operations rather than the overall cash balance as the cash balance can be affected by other activities (such as purchasing or selling property, plant and equipment) that have little to do with cash generated from earnings.


(a)
External uses include investors and creditors, amongst others. Investors (share-holders) use accounting information to make decisions to buy, hold, or sell their shares. Creditors, such as suppliers and bankers, use accounting information to evaluate the risks of being repaid when granting credit or lending money.

(b) Basic decision-making is unlikely to change from country to country as investors and creditors are making the same types of decisions – whether to invest, whether to lend money.

(c)
Zachary will likely not be able to find such information in the financial statements themselves. However, non-financial information is likely to be available in the annual report, on the company's website or in trade publications.

(d)
Zachary will still be able to compare the two sets of statements. Michelin’s financial statements are prepared under IFRS and under IFRS, companies can order their balance sheet in reverse order of liquidity (as Michelin did) or in order of liquidity. Goodyear’s balance sheet will be in order of liquidity. However, the items on the balance sheet will be similar and the same line items and the same subtotals (e.g., total assets, total liabilities, total shareholders’ equity) will be on each balance sheet.


(a) Information contained in the company’s financial statements that is important to the regional sales manager’s position might include the following:

· If selling to corporate customers, the customer will use the financial statements to assess the health and stability of the company as a potential vendor.

· Events occurring at the corporate level (corporate takeovers, brand recalls, bad press from fraudulent or socially irresponsible activities) may affect local sales performance.

· Students can list many accounts and relationships that are affected by the Sales function. The important point is that this is aggregate information, available to the public, and not detailed enough for the manager to control day to day activities or analyze success or failure of particular products, regions, or sales force activities. 

(b) Students can produce a long list of more detailed, shorter-term data specific to the region that the sales manager controls. These might include budget data, non-financial volume data, customer growth and retention data, and external benchmarking data.


(a)
Total liabilities and shareholders’ equity = Total assets = $38,000



Total shareholders’ equity = Total liabilities and shareholders’ equity – Total liabilities



Total shareholders’ equity = $38,000 – $17,000 = $21,000


Retained earnings = Total shareholders’ equity – Common shares



Retained earnings = $21,000 – $18,000 = $3,000

(b)
The dividend is recorded in the dividend account. The dividend account is deducted from retained earnings on the statement of retained earnings.

(c)
In preparing the financial statements, the first statement to be prepared is the statement of earnings. The net earnings figure is used in the statement of retained earnings to calculate the ending balance of retained earnings. The balance sheet is then completed using the balance of retained earnings as calculated in the statement of retained earnings. Finally, the cash flow statement explains the reasons for the change in the beginning and ending cash balances as reported on the balance sheet.


(a)
The stakeholders in this situation are the new CEO and CFO, and the creditors and investors who rely on the financial statements to make business decisions.

(b)
The CEO and CFO should not sign the certification until they have taken steps to assure themselves that the most recent reports accurately and completely reflect the activities of the business. However, as the current management of the company, they cannot refuse to sign the certification just because they are new. They are the management team now and must accept the responsibility that goes with these positions.

(c)
The CEO and CFO have no alternative other than to take the steps necessary to assure themselves of the accuracy and completeness of the financial information, and, if accurate, sign the certification. If the information is not accurate or complete, they need to make the required corrections to the financial information.


(a)
You may want to be working as

· An accountant working towards an accounting designation

· A financial analyst

· A financial advisor

· A manager

(b)
The basic elements of a resume include:

· An objective (your goals)

· A summary of your qualifications/accomplishments

· Experience highlights

· Employment history

· Education and training

· Other matters such as continuous education, languages, awards, memberships, affiliations and community involvement, as applicable

(c)
You can provide references who can substantiate the information on your resume and evidence of education (diplomas and transcripts).

(d)
He is no longer employed by RadioShack. He resigned his position after it was revealed he had lied about his academic record on his resume.


(a)
Natalie has a choice between a sole proprietorship and a corporation. A partnership is not an option since she is the sole owner of the business.


A proprietorship is the easiest to create and operate because there are no formal procedures involved in creating the proprietorship. However, if she operates the business as a proprietorship she will personally have unlimited liability for the debts of the business. Operating the business as a corporation would limit her liability to her investment in the business. Natalie will in all likelihood require the services of a lawyer to incorporate. Costs to incorporate as well as additional ongoing costs to administrate and operate the business as a corporation may be costly.


Natalie may choose the proprietorship form of business organization. The organization is small and Natalie may not wish to incur the costs of incorporation. Natalie can start off as a proprietorship and later incorporate the business. As a proprietorship, it may be easier to stop operating the business if Natalie decides not to continue.



If Natalie believes this is a long term commitment and anticipates net earnings, then she should choose the incorporation alternative. Incorporation costs may prove to be onerous at the outset; however, with anticipated net earnings and future growth anticipated, the benefits of limited liability and lower income tax rates may outweigh the costs of incorporation.

(b)
Yes. Natalie will need accounting information to help her operate her business. She will need information on her cash balance on a daily or weekly basis to help her determine if she can pay her bills. She will need to know the cost of her services and supplies so she can establish her prices. She will need to know revenue and expenses so she can report her net earnings for income tax purposes. If she borrows money, she will need financial statements so lenders can assess the liquidity, solvency, and profitability of the business. Natalie would also find financial statements useful to better understand her business and identify financial issues as early as possible. Monthly financial statements would be best because they are more timely. However, they are more work to prepare.

BYP 1-9 (Continued)

(c)
Assets:
Cash, Accounts Receivable, Supplies, Equipment, Prepaid Insurance


Liabilities:
Accounts Payable, Unearned Revenue, Notes Payable


Shareholder's Equity:
Common Shares, Retained Earnings, Dividends


Revenue
Teaching Revenue


Expenses
Advertising Expense, Supplies Expense, Travel Expense, Telephone Expense, Insurance Expense, Income Tax Expense

Legal Notice


Copyright
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